Geometry H Name: __ Key
12.6 — Surface Area and Volume of Spheres Date: v Period:

e [ can find surface area and volume of spheres.

TARGETS

The diagram below describes the parts of a sphere.

A hemisphere is half a
sphere. A great circle
divides a sphere into two

hemispheres.

A sphere is the locus of A radius r connecls

peoints in space that are tha center of the sphere

a fixed distance from the to any point on the

center of the sphere, ' : sphare.
Complete the following:
1. The radwis of a sphere connects the center of the sphere to any point on
the sphere.
2. A(n) hemiipley e is half a sphere. 5 Fhe 2-d Qr(le vnat | pnade when you
cplt the spnert

3. The radius of a sphere is 6 cm. What is the radius of its great circle? __ o) ih \’\(“F

4. The volume of a sphere is 9007 ft>. What is the volume of one of its hemispheres? _450T H g
+1

The formula for the Surface Area of a

sphere with radius r is

SA - Yrr?

Example 1: Find surface area of sphere.
P Surfo® Oxto
a) An orange has a radius of 2 inches. Find the aM;_)_eﬁ on the outside of the orange.

R lus
=ym(2)*

=4n(d) lm

b) The area ( ofthe great eat circle of a s| sphere is 121w i in>. What is the surface area of the sphere?

Sowe foy ¥ using ared - A - qry 2 SAz 4Tr ™ « dont have YadwWs
‘_%;zf :lqls%r2 = 4w ()*
= 4r(121)
laox” = hgdrr




Shok sphere = 4Tr® 22 D GA ok hemyphere = 2mr®

c) Find the total surface area of the hemisphere.

CA:= 21y ? + avea of caehar base
2w (2s)? pe=me?
- 221 (625) =Tr(zs)”
QOE‘L’/ #1260 = T(629)
=(962.5

SA 2 3426 an*

Toral SA = 3426 t1Gb26 =‘ 55%1.50m™> ]

The formula for the Volume of a

sphere with radius r is
Yy
\: 3ar’

Example 2: Find the volume of a sphere.
Find the volume of a sphere whose surface area is 107 square feet.

¥Use SA SA= 4y V:loy?
Fo §Q\VE of <4y K
Yadw's B — = Y4 -o\3
for Yot % ¥ 5 T(15%)
25:y2 “w (3a4)

Example 3: Find the volume of a composite figure.
a) Find the volume of the composite solid.

hoWeW  ouktr cywnder: =Y h wnver Sphere . = i’
@ D AL (a)() - 4a(3)’
5in. = m(aNs) = 4w (1)
gl - 1304 € Wwhoie
<3
3in. :

v-\"\\ % 1’_5—(3752 kh(mtsphcrl

4
Total Volume = 1413 - 66,62 = 8”\ g
b) A cantaloupe is a nearly spherical fruit. Inside, there is a roughly spherical cavity in the center
that holds seeds. The flesh surrounds this cavity and extends to the skin of the fruit. The

diameter of the cantaloupe is 8 inches, and the diameter of the seed cavity is 4 inches. Please
find the volume of the flesh. u

u —
R, \:amy ner: s 3
__ Flesh

210k = dq)’

SeectCavity
yolume of frant: 26799 -3348 =




